[image: image6.jpg]@hongkqofﬁ Tl g shonghac.com





[image: image1.png]NERBFSEEE (2012, 5)

—. EEE: FABH0/ME, SIS, #3049
B 2A 3C 4B 5D 6D 7B 8C 9A 10A
= REE: AKEE8VE, §ME3IN, 245,

1.-14 12, 2:43 #&243:3) 13.12 1435172 BB 15. 10

16.k>-1Hk#0 17. (2, 4) % (3, 4) B (8, 4) 18, B

FEZ)  (Em

=, BEE: KRN 8 EE, 3664 BMELEHXPUE. RESBR TR,
19. (ENEs 4

B Bi3x+725(x-1) MA x<6. oo 24

E3x_2>y+1 BE x> e 4 43
BTl AERARMRER: 4<x <6 oo 6 4
20. (ARG R 4y
e (1) REPIBHEOERSE C (-1, 2) e B ] s
LRUBIREEMRE RN -2 .. 24
X
VH&EZER C (-1, 2) S2==14+m m=3
WHERBFR L y=x+3 . 44}
= x,==1[x, =2
() fR7Ra 2 ﬁ@ﬁ{ 1 { I 6 4
y=~; »n=2 Yy =1




[image: image2.png]21, (KR/NE84)

M el e 34 %Zﬁ\

(1) fRARKRAI SR

33, 34, 35, 43, 44, 45, 53, 54, 55  ceeee 6 4 /l\ 3/l\5 /1'1\5
(I P (HRLENEBFZRR 9 BEE) @3, 3)(3 4) (3, 5)(4 3) 4045 6,3 5465

22, (RS
fiE: (1) HE CES5QO HY)everseereens 14
UM WA, %4 op
VAD WAy LFAE, ' LCAD=LDAE. «seeesvsssssses 24
" O0A=0D, .. /0DA=/LDAE.
S LCAD=LODA J.ODNAC ~—  seeeressesenes 34
“ECLAC, S.ODLEC 6
SCEROO M. --oeooreveeeme 4 43 - » D
(I W, %% BF. ‘
v ABROOKER, 5
S, LAFB=90° .  serecrvecscecns 54
S LAFB=/C ~  eeeeecesssisees 65}
SBFINEC SAF P AC=AB AE.  seeesesreseres 7 4%
“* AF I FC=5 .3, AE=16,
S5 :8=4B : 16. S AB= 10, evccsessesressettcnncasacconas 8 4
23. (E/NEB 4

. (1) W, fF4D1BC TR D
RtAABD 1,

N

AD=ABsind5° =4 x 7 = 2\/§ ............ 243

FERIAACD H1, " LACD=30°
.'.AC=2AD=4‘/5 ~5.6
BISTAS LA AC BRI S0,  corvnrimnnicnninciteciisconneinanee 44

(II) f#: 2 RtA4BD ¥, BD=A4B-cos45® =4x—‘§=2«/§

2E RIALCD H1, CD=AC c0s30° =4+/2 x —\‘/’—; =26 e 6 4+

r.CB-cD—gp =26 =22 =26 -2) 19 1

SHRASEERH Y T BUEEEE 0 2.1 . cerverumeresisenressasssensanssnnes 8 4
TEEWEBR B2 A KRS K




[image: image3.png]24. (KNS 4
2 (1) WXFERSHITRETHMEKRY ¢,

wEs A 90(1+x)*=1089. L. 24
@ x, =01, G4) x,=-21 (JF{%@E; &) . . 44

ed=Bd=A0% - @ . 54
SRR 0%, 64

(I1) 108.9(1+10%)=119.79.

¥ B 2011 SFRRXA A FE RS EARIET] 119.79 TFHK...... g 4

25. (1) PA=kPB. 24

(ID W2, 2P AEPCLx#MTFC, PDLy®FD, ®P (x,, kx,) .

" LBPDH ZDPA=ZAPB=90° , LAPC+/DPA=./CPD=90°

4

S LAPC=/BPD..".RtAAPCRtABPD. 4 4y

PA:PC.:. PA—klx°l=k..‘.PA=kPB. ...... 6 4
PB PD PB . |x,| A

(D Hk=i ™, PA=PB, AT LPOA=45" B POA=135° . ... . 84

XEFRN B () B PA=kPB, BiAX k=11, PA=PB.
B RIAAPCLRIABPD, ..PC=PD,

B P BEx B, y BIOEERIARSE, FTUERy-> (k=1 59—, =ZRRIKA.
< ZPOA=45° BRZPOA=135"° (K 3) . ‘

y

=

—lo AC x
B2sk (D

B2l 3)
NAEBPFR B3 W3 5,




[image: image4.png]26. (A/NEERES 10 43
W IR ARSTR N y = —%f vheti

RS 0, 0). (1, 1D B,

c=0 1
b=1+—
{ 1 ’ ﬁ?—ﬁ{ a.
—+b+c=1
a . c=0

SRR TR y = L +(1+—)x .........................

a

(1) Ya=18, FPREORTRDy=—2"+2% s

y=—x?+2x = (x> =2x+1) +1 =—~(x-1)’ +1.

ERPRMTOR SR (4, D o ese s s

(> AN FEXHLE, S AN HHRSEER 0.
2 OR, H—Lx +(+D)x=0, Wx =0, n=a+1.
a a

CENRTRA AN KSREA (a+l, 00 . ON=a+l

o M AERHR AB B, S M RGN 1.
1.5

HKy= Ntzﬁ——x+0+-k 1,-x—a+_ﬁ+1=0,
a

WwEx =1, x,=a.

MM mssERR (1, D R (a, D L en g

...... : .35}

............. 54y

w s M AR (1 1D B, M 5BES, fita=1, BM=0, ON=2.

ON + BM %5 ON — BM F{ERREH 2.

s M AN Ca, D W,
5 MAEEBAEN, HHa>1, BM=a-1.

SON+BM =(a+)+(a-1)=2a, ON-BM =(a+1)-(a-1)=2.

5 M ERBEMN, 1 0<a<1, BM=1-a.

NEEPPHER B4 W s m




[image: image5.png]S ON+BM =(a+)+(1~a)=2, ON-BM =(a+})~(1-a)=2a.
SMo<a<i B, ON+BM MEREH 2. i, 64
Bael e ON=BM BHEERME. counmmmsvorversomismommmonmssns 74

1
(D BFB SRR KRR L y = ~;(x —h)Y? +k,

RN A X R t:-:1;(r—h)2+k, .................. 84
B2 +(a—2h)t+ W —ak =0.

VB ENRWRXRT -GN, TR RAISR R
SHAFRA =(a-2h) 4 -ak) =0,

Ha-4h+4k =0, k=h—§—.

STRA Chy k) %EEé&y=x—§-_t. 10 4

---------------------------------------




[image: image6.jpg]